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Full Marks : 100
Pass Marks : 30

Time : 3 hours

The figures in the margin indicate full marks for the questions
ALLOTMENT OF MARKS

PART—A / Reli—=

Q. No. 1( a—f) carries 1 mark each : 1x6= 6
Q. Nos. 2-7 carry 2 marks each : 2x6 =12
Q. Nos. 8-12 carry 4 marks each : 4x5 = 20
Q. Nos. 13 & 14 carry 6 marks each 6x2 =12
Total = 50
PART—B / Ret—4

Q. No. 15( a—f ) carries 1 mark each : 1x6= 6
Q. Nos. 16-21 carry 2 marks each : 2x6 =12
Q. Nos. 22-26 carry 4 marks each : 4x5 = 20
Q. Nos. 27 & 28 carry 6 marks each 6x2 =12
Total = 50

Total (PART—A & PART—B) : S50+50=100
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PART—A
Re—s

( Introductory Microeconomics )

1. Answer the following :
Tors e Tey fi :

(o) State the law of supply.
e RFACH! fer |

(b) What is break-even point?
- oerees R 2

(c) What is the shape of a perfectly inelastic demand
curve?

ofef SfEfSFIoR vk (TR RS e 2

(d) What does a point below the production possibility
curve indicate?

T TSR ([IF TS SRS 77 <5y B fio 33 2

(e) What is market economy?

IR LS [F 2
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(/ What do you understand by price ceiling? 1

w39 T S fercet 6 e 2

2. What is opportunity cost? Explain with an example.
1+1=2

A9 I 2 9D SHRIPR Y T4 |

3. Write the law of variable proportion. 2

AR S Ri&CoT B 1

4. State the law of demand and draw a demand curve.

1+1=2
wifzwt R ol S =sice o oI (F91 SR 91 |
5. Prove that for a firm, price = average revenue. 2
oI 9 (@ (A 937 AP I, T« = TS A |
6. Write the conditions of firm’s equilibrium. 2

2P ST TS5 o |

7. How does imposition of per unit tax affect supply curve of
a firm? 2

GTF 39 TIEAR ARHT @ @NIF FER Ao I 2
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8. Discuss the characteristics of perfect competitive
market. 4

*ff efScfrorERs IwRT AFBPRR S 4 |

9. With the help of demand and supply curve, explain how
market equilibrium is attained. 4

BIFRTT SF (9 ({9 ST IS OOl SI2]9 AT 0 9 0

10. Explain the law of diminishing marginal utility. 4
TP 21feF Seicafarer Rigcer mm 41 |

Or / 931

What is price elasticity of demand? Discuss any one
method of calculating price elasticity of demand. 1+3=4

oIS 7 Refegrerre 2tk @ RSl somr Ta R @I @bl
&S A 40 |

11. Define production function. The production function of a
firm is given as Q =5.LK, where Q is output, L is labour
employed and K is capital employed. Determine the level of
Q, when L =16 and K = 36. 1+3=94

AN FONT K 11 | g AROR Beolw Fe (=% Q =5VLK,

T® Q ' Teomw oW, L (xr AR o9 RN W K
xR Rfe @ «fRme | L=16 e K =36 2'ca Q¥ R
Rdire 791
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Or / ST
Discuss the determinants of supply. 4

ST TNAFTR SHCeoT 1 |

12. Write the differences between monopoly market and
monopolistic competitive market. 4

GFTHA ISR F BT afscfron IenT NP B |

13. Explain how a consumer attains equilibrium while
consuming two commodities. 6

751 TR TSR (S TSI GO (I SISl T T, M
40 |

Or / =<1

What is an indifference curve? Draw an indifference curve
and discuss its properties. 1+1+4=6

ffeers @ 7 qom feers @ SR 39 e W RPEPR
SIS 41 |

14. Define average fixed cost (AFC), average variable cost
(AVC) and average cost (AC). Draw the AFC, AVC and AC
curves indicating their interrelation. 3+3=6

5% %9 I (AFC), 15 “iRaéaMie I/ (AVC) =¥ 1% I8 (AC)T SR
fordl | AFC, AVC IF ACY VIR SR8 afsglre (Eis @9l-
FLTE SN 41 |
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Or / 941

Calculate TFC, TVC, AVC, AFC, AC and MC schedule from

the following table : 6

T} ©IfeFN °[1 TFC, TVC, AVC, AFC, AC SIF MC Sl sl
9l :
Amount of Production (Q) | O 1 2 3 4 5 6
TeofmT [N
Total Cost (TC) 40 |100|120(130(150|190|250
P I
PART—B
Ret—

( Statistics for Economics )

15. Answer the following :
ot frafienes T o

(@) Who forwarded the welfare definition of economics?

YR TR TR (FIH ARG 2

(b) Write one limitation of statistics.

ARRY Reemg b1 Sirae: B3 1
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(c) Write the direct method of calculating arithmetic mean
in case of discrete variable. 1

Rftes o199 (Fa© ST WK SIS 20T Tafoco! &7 |

(d) Write the full form of NSSO. 1
NSSOT S=eff b1 fera |
(e) Who is known as the father of statistics? 1

ARPRYW R Prowce S5 &= I 2

() Write one difference between  diagrammatic
presentation and graphical presentation of data. 1

YR B Sorom oI TTIRAN TergremT e 9Bl N o |
16. Calculate range and range coefficient from the following
data : 1+1=2
O] ORI 219 2N SF 2 BN A 90 ¢

12, 15, 18, 21, 24, 27

17. Write two differences between discrete variable and
continuous variable. 2

fiftes v1¢ Se SRk 5o T o1 <N o o

18. What do you understand by relative measures of
dispersion? 2

Reserr st et e = @02
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19. Write two differences between histogram and bar
diagram.

R’ e s v g 71 “nefem forar |

20. Write two limitations of ‘direct personal investigation’
method of data collection.

7 RATF ‘m%%m’%@%ﬁml

21. Write two features of statistics,

RS R 51 e s

22. Briefly write about the methods of classification of data.
S AR TR Re v gy |
Or / g3y

Write the objectives of tabulation of data
©YF SIfeRIF ST li‘ml

23. The marks obtained by 9 Students of a class are given
below. Calculate mean deviation

22, 65, 40, S0, 38, 20, 70, 25, 75
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Or / 911
Write a note on Lorenz curve. 4
(3G I99 [/ 961 o= o o
24. Calculate Karl Pearson’s correlation coefficient from the
following data : 4
Ooq O 29 I HIAIoAT ADTIH BARF A 4 ¢
X 6 8 121 15|18 | 20 | 24 | 38 | 31
10 | 12 | 15| 15 | 18 | 25 | 22 | 26 | 28
Or / %<1
What is rank correlation? Briefly outline its demerits.
1+3=4
FT T 3 7 TR SPIRYER FRewC ol |
25. Calculate mode from the following frequency
distribution : 4
©o1q RIS RO *[1 I3 491 I ¢
X | 0-10 |10-20{20-30(30-40/|40-50|50-60|60-70|70-80
4 12 18 25 16 e) 7 3
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26.

27.

28.

( 10 )

Or / 941
What is median;_f_’ Discuss its merits.

A 5 2 AR SRYPIR SICema 4 |

Write the characteristics of an ideal average.

~mhvmw¢ﬂ$atﬂﬁ%ﬁ{2ﬁmmn

Write short notes on :

5 B fora
(a) Wholesale price index

ARTIR W SPIRT

(b) Consumer price index

oSS T SPIT

Or / 9d1

1+3=4

3+3=6

Discuss the use of index number in the study of

economics.

SYRETT S F5F TR AT AT 1 |

Discuss the characteristics of a good questionnaire.

G SE 2PIIFAR CIFBPIR SIcEAs 9 |
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)

Or / 9§t

Draw a histogram and a frequency Polygon from the

following data : 4+2=6

©e1q ©YF ° 11 @bl R’ AN e aﬁmawv@mww :
Marks Obtained |10-20 |20-30 |30-40 |[40-50|50-60|60-70
NN
No. of Students 5 12 15 22 19 4
RIS FRT

% %k ¥k
22C
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